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N.B: (1) Question No. 1 is compulsory.
(2) Attempt any Three questions from remaining.
(3) Figures to the right indicate full marks.

1. Answer the following:-
(a) What is automation? Explain its significance. :
(b) What is scan time of PLC? Explain its importance in process control. #: /
(c) Name any five typical applications of SCADA. - s
(d) What is the difference between SIS and BPCS? : -

-

-2. (a) Draw and explain the working of PLC with the help of functional Block diagram.
Name any four vendors of PLC with their models. & [10]

(b) Develop a ladder diagram for the car parking system with thq‘follumng sequence.
i) If there is no car GREEN light will glow.
it) If number of cars between 1 to 9 YELLOW, light glqa.v
iii) If there are cars above 10 numbers then, RED light'will glow.
It should include GUI, I/O listing, /O wirir_lg diagrasn and ladder diagram. [10]

v

3. (a) What are DCS displays? Explain any.-_'.tw:).-in detall. [10]

(b) With a neat sketch explain how RTU aom;g‘n.imcatcs with the field and MTU
in SCADA. . < (10]
' »
4. (a) What are independent protection.layers? Explain the significance of all these

layers with reference to SIS.», [10]

-

i Y . ;
(b) What is an MES ? Explainithe layers of communication between business

and control systems. X [10]
A Y.
5. (a) Explain PLC T'mar and Counter instructions with their functions. [10]
(b) Explain hlﬂ'archical computer control for large manufacturing complex. [10]
. i {/
6. Wiite Sh‘ortna;te on: - [20]

(a) Alarm lifecycle model.
+(b). Corapare DCS, PLC and SCADA.
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